TEQQ%KQ 12
W@ Choose the correct answer from four possible

answers (AB,C,D) and fill the correct answer on

MCQ's sheet separately.
i)  An atom with a charge is called
A) An electron - B) Amolecule
C) Ametal D) Anion
ii) « Hydrochloric acid, nitric acid and white lead prepared by:
A) AiRazi B) Jabber Ibn Haiyan
C) Ibn-e-Sina D) Al-Beruni
i) Which of the following would have the largest ionization
~ energy?
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iv) Which stateme ﬂw'-. of 4cfid is not correct?
They move 'i
\\ o

anged in regular pattem
\N\N@ ere is a very little space between the particies

D) Thefmofauracmmbemmenmclesare strong
v) Inwhich of the following does sulphur have an oxidation
number of +77

A) HSO; B) SO; C) HSO; D) H;S;0
vi) Electron in its ground state does not
A) Spin B) Revolve
C) Radiate energy D) Reside in orbit
vii) 2 moles of Na, SO, are dissolved in one dm” of solution,
molarity of solution is
A) 1M B) 2M C) 3Mm
vii) Halogens react with non-metals forming

A)mwm . Umw

A) Single covalentbond B) Double covalent bond
C) Triplecovalentbond D) lonic bond
xi) - Group Ill to group VIIl elements are called ____elements.
A) sblock B) d-block ‘C) pblock D) f-block
xii) - Which of the following is weak electrolytic?
A) HCI B) NaC!l C) KCI D) NHOH




